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ANSWERS 
1-2 2-2 3-3 4-1 5-1 6-3 
7-3 8-4 9-3 10-1 11-1 12-2 
13-3 14-3 15-1 16-3 17-2 18-2
19-4 20-3 21-4 22-1 23-3 24-3 
25-2 26-1 27-3 28-2 29-4 30-3
31-3 32-1 33-4 34-1 35-1 36-1 
37-3 38-1 39-1 40-4 41-3 42-2
43-3 44-1
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17. An article was purchased for Rs.
97.35. Its price was marked up by
20%. It was sold at a discount of 10%
on the marked up price. What was the
profit percent on the cost price?
1.5    2.6    3.7    4.8    5.9

18. David scored a total of 252 points in
28 basketball games. Sam played 10
games less than David and his scoring
average per game was 0.5 points
higher than David’s. How many
points, in total, did Sam score?
1.153   2.162    3.171    4.181    5.95

19. Total expenditure for a class trip is
$450. If there had been five students
more for the trip, the expenditure per
student would have been less by $1.
Find the number of students who
went for the trip.
1.44     2.45    3.50    4.54     5.55

20. In what proportion must wheat at Rs.
1.80 per kg be mixed with wheat at
Rs. 2.50 per kg to get a mixture worth
Rs. 2.0 per kg?
1.2 : 3   2.5 : 2   3. 2 : 5  
4. 4 : 3 5. 3 : 2

21.A is twice as efficient as B, B is thrice
as efficient as C and D is four times as
efficient as C. If D can complete a
piece of work in 12 days, how many
days will A take to complete the same
piece of work?
1.6     2.8     3.12     4.16     5.20

22.Five men start a piece of work at 8:00
am and they can complete the work
by 4:00 pm without taking any break.
If one more man joins them at 12:00
noon, then at what time will the work
be completed?
1. 3:00 pm    2. 3:20 pm    3. 3:30 pm  
4. 3:40 pm    5. 3:48 pm

23. In a 1 km race, B takes 3 minutes

more than A and 1 minute less than C.
If A runs at a speed of 10 km/h in 1
km race, what is C's speed?
1. 9 km/h     2. 7 km/h    3. 8 km/h  
4. 6 km/h     5. 5 km/h

24.A man drives for 10 hours, the first
half of the distance at 21 kmph and
the second at 24 kmph. Find the
distance travelled.
1. 200 km 2. 222 km      3. 224 km 
4. 236 km 5. 248 km

25.What will be the difference between
the compound interest and the simple
interest at the rate of 5 p.c.p.a. on an
amount of Rs. 4000 at the end of two
years?
1. Rs. 10      2. Rs. 20     3. Rs. 25 
4. Data inadequate
5. None of these

� (26-30)Directions: This question is
based on the following line graph
showing the quantity of a commodity
produced over a period of five years and
its corresponding value of export
(in crores).

26. In which year was the value per kg
minimum?
1. 1994 2. 1995         3. 1996 
4. 1997 5. 1998

27. What was the difference in volumes
exported in 1996 and 1997?
1. 2 x 105 kg    2. 105 kg      3. 106 kg  
4. 107 kg          5. 108 kg

28. What was the approximate percentage
increase in export value from 1994 to
1998?
1. 130%  2. 230%  3. 330% 
4. 350% 5. 430%

29. What was the percentage drop in
export quantity from 1994 to 1995?
1. 0% 2. 31/3%     3. 15% 
4. 25% 5. 75%

30. If in 1997, cashew nuts were expected
at the same rate per kg as that in
1996, what would be the value of
exports in 1997?
1. Rs. 300 crores     2. Rs. 317 crores 
3. Rs. 327 crores     4. Rs. 337 crores 
5. Rs. 347 crores

31. The book value of a lathe machine
depreciates at the rate of 20% of its
present value. If its cost is Rs.
20,00,000, what is its book value at the
end of 3 years?
1. Rs. 1400000     2. Rs. 3456000
3. Rs. 1456000     4. Rs. 1024000
5. Rs. 956000

32. The average of 3 numbers is 30. If
another number x is included, the new
average becomes  . What is the new
number that is added to get the new
average?
1. 30    2. 50    3. 60    4. 90    5. 100

33. A godown is in the form of a cuboid
measuring 60 m x 50 m x 20 m. How
many cubes of side 10 m each can be
stored in this godown?
1. 55 2. 60    3. 75    4. 70    5. 72

34. Manu earned a profit of Rs. 300 by
selling 100 kg of a mixture of A and B
types of rice at a total price of Rs.
1100. What was the proportion of A
and B types of rice in the mixture if

the cost prices of A and B are Rs. 10
and Rs. 5 per kg, respectively?
1. 3 : 2 2. 2 : 5 3. 2 : 3 
4. 5 : 2 5. None of these

35. A businessman purchased an article
and marked its price at 30% more
than cost price. After allowing a
discount of 10%, he earned Rs. 1020
as profit. What is the cost price of the
article?
1. Rs. 3250       2. Rs. 4500    3. Rs. 5400 
4. Rs. 6000 5. Rs. 6400

� (36-40). Directions: Study the following
information carefully and answer the
question that follows. In a certain code,
‘stand at the centre window’ is written as
‘42351’. ‘The center is your’ is written
as ‘6139’ and ‘your centre are appeared
at’ is written as ‘71982’.

36. What is the code for ‘is’?
1. 3    2. 2    3. 6    4. 9   5. None of these

37. What does '1' stand for?
1. centre   2. The              3. Is    
4. At 5. None of these

38. What is the code for ‘your centre
window is’?
1. 9146       2. 9156            3. 9126 
4. Either 1 or 2 5. None of these

39. What does '2' stand for?
1. are    2. Appeared   3. At 
4. Your 5. None of these

40. Which of the following represents ‘the
appeared’?
1. 37 2. 38               3. 28 
4. 27 5. Either (1) or (2)

41. A and B are a married couple. X and
Y are brothers. X is the brother-in-law
of A. How is B related to Y?
1. Sibling  2. Cousin        3. Niece 
4. Aunt 5. None of these

42. Pointing to a photograph, a man said,
“She is the mother of my son's wife's
daughter.” How is the man related to
the lady?
1. Uncle   2. Cousin   3. Daughter-in-law
4. Father-in-law         5. None of these

How is B related to Y?
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